
Toutes les Opérations (F)Calculez chaque somme, différence, produit, ou quotient.63 ÷ 9 = 16 ÷ 8 = 56 ÷ 7 = 4 + 7 =48 ÷ 6 = 5 × 3 = 3 × 10 = 12 - 4 =3 × 6 = 15 - 8 = 7 × 5 = 15 - 7 =4 × 3 = 3 × 7 = 3 + 1 = 13 - 5 =9 + 9 = 8 - 6 = 11 - 10 = 10 + 5 =4 + 6 = 3 × 7 = 13 - 4 = 10 × 4 =9 × 7 = 1 + 3 = 6 + 9 = 21 ÷ 7 =4 × 8 = 30 ÷ 5 = 1 × 6 = 1 + 5 =20 ÷ 2 = 9 + 9 = 9 - 6 = 14 - 6 =6 + 10 = 9 + 1 = 6 + 6 = 2 + 5 =56 ÷ 7 = 72 ÷ 9 = 4 + 3 = 6 + 8 =3 + 7 = 18 ÷ 9 = 7 × 8 = 7 - 5 =10 × 9 = 40 ÷ 10 = 8 - 7 = 17 - 8 =12 - 6 = 8 - 5 = 90 ÷ 9 = 2 × 9 =3 × 1 = 6 × 8 = 5 × 8 = 8 + 9 =6 - 4 = 7 × 5 = 5 × 9 = 6 ÷ 3 =8 × 1 = 19 - 9 = 60 ÷ 6 = 4 × 9 =5 - 1 = 10 + 6 = 7 + 8 = 9 × 3 =36 ÷ 6 = 5 + 7 = 4 × 2 = 8 + 10 =7 + 10 = 4 + 10 = 8 × 10 = 17 - 9 =8 + 8 = 10 + 1 = 4 + 3 = 10 - 5 =7 - 3 = 5 - 4 = 2 ÷ 1 = 1 × 4 =12 - 8 = 7 + 10 = 6 ÷ 1 = 8 × 4 =1 + 1 = 56 ÷ 8 = 10 - 9 = 100 ÷ 10 =10 + 7 = 45 ÷ 5 = 9 + 2 = 3 × 1 =Mathslibres.com



Toutes les Opérations (F) RéponsesCalculez chaque somme, différence, produit, ou quotient.63 ÷ 9 = 7 16 ÷ 8 = 2 56 ÷ 7 = 8 4 + 7 = 1148 ÷ 6 = 8 5 × 3 = 15 3 × 10 = 30 12 - 4 = 83 × 6 = 18 15 - 8 = 7 7 × 5 = 35 15 - 7 = 84 × 3 = 12 3 × 7 = 21 3 + 1 = 4 13 - 5 = 89 + 9 = 18 8 - 6 = 2 11 - 10 = 1 10 + 5 = 154 + 6 = 10 3 × 7 = 21 13 - 4 = 9 10 × 4 = 409 × 7 = 63 1 + 3 = 4 6 + 9 = 15 21 ÷ 7 = 34 × 8 = 32 30 ÷ 5 = 6 1 × 6 = 6 1 + 5 = 620 ÷ 2 = 10 9 + 9 = 18 9 - 6 = 3 14 - 6 = 86 + 10 = 16 9 + 1 = 10 6 + 6 = 12 2 + 5 = 756 ÷ 7 = 8 72 ÷ 9 = 8 4 + 3 = 7 6 + 8 = 143 + 7 = 10 18 ÷ 9 = 2 7 × 8 = 56 7 - 5 = 210 × 9 = 90 40 ÷ 10 = 4 8 - 7 = 1 17 - 8 = 912 - 6 = 6 8 - 5 = 3 90 ÷ 9 = 10 2 × 9 = 183 × 1 = 3 6 × 8 = 48 5 × 8 = 40 8 + 9 = 176 - 4 = 2 7 × 5 = 35 5 × 9 = 45 6 ÷ 3 = 28 × 1 = 8 19 - 9 = 10 60 ÷ 6 = 10 4 × 9 = 365 - 1 = 4 10 + 6 = 16 7 + 8 = 15 9 × 3 = 2736 ÷ 6 = 6 5 + 7 = 12 4 × 2 = 8 8 + 10 = 187 + 10 = 17 4 + 10 = 14 8 × 10 = 80 17 - 9 = 88 + 8 = 16 10 + 1 = 11 4 + 3 = 7 10 - 5 = 57 - 3 = 4 5 - 4 = 1 2 ÷ 1 = 2 1 × 4 = 412 - 8 = 4 7 + 10 = 17 6 ÷ 1 = 6 8 × 4 = 321 + 1 = 2 56 ÷ 8 = 7 10 - 9 = 1 100 ÷ 10 = 1010 + 7 = 17 45 ÷ 5 = 9 9 + 2 = 11 3 × 1 = 3Mathslibres.com


